Jols wya gy AS ) s e sadsla “

Y Y
YX +X-V=0 (Y X =X=+ ()
Y Y
X +1vX-A= (¥ X -tx+HV=o (¥
Y Y
X +\ﬁ'x-\=.(fv X «-X+t=. (b

Lng.)lSLo Q )'l )Llii.o 4> (SI)‘S

. Y Y

Gl waclias

Y

bype 33c & 355 Ly |y ;0 @ld Jb
Colue 4 by dae (gglwo (] uxo &

b ]



Cundy ) Gy 392 Jgl ol 422

—(tx =) H¥(z4y) =5

b of 53 & 38 Iy b o3¢
9 IV Jol> @i @2 usaye

y

S WS WS s ) p e gladilu

Y Y

X +rX-Y=1 (o X =0x+#=0 (A
Y , N

X +8X+4=1 (o x+;=-x(\‘,



V
h¥z'+a+V = gdolen gloslg

..\g)gl Cawd 4 3929 )0 )

A

Y
Sy dibs ol 3 Sl Sl =¥ VX - A TAZ 0 odslun glac g ) S S

i

?;.-‘).\io'-‘}#'__a;,.ﬂ f},J}.ﬁ‘d,bﬁjﬁ)éﬁaJw\;’L‘

x+) Yx

Tx+Y Yx+f



